el [GeV]]

=
o
N

r
T

(1/Njet)dN/dp

Ratio to ATLAS

=
o

=

0.5

7000 GeV pp Soft QC
E| — 1 1 ' 1 ' 1 | 1 T | — 71 T 1 T T T T | T |E
- Relative P, (track jets) —
B &fﬁ;ﬁﬁr@ﬂﬂ _:
= Tag =
e ﬂ@ _
- ,@@ ]
= m ATLAS @1@ =
— £+ Pythia 6.428 350 jg‘% -
~  --&-- Pythia 6.428 351 %‘ 7
= --¥-- Pythia 6.428 352 ‘ =
- A~ Pythia 6.428 353 =
— --G-- Pythia 6.428 354 -
= --+-- Pythia 6.428 355 —=
= & Pythia 6.428 356 =
Z Pythia 6.428 357 _
_ Pythia 6.428 358 —
~ --=-- Pythia 6.428 359 =
? | | | | | | ' | | | | | | | | E
:l T T T T | T T T | T T T T | I:
| " 1 1 1 1 " | 1 " 1 1 " | " 1 " 1 " 1 " 1 " | " 1

0 0.5 1 1.5

Charged Particle |6Tel [GeV]

Rivet 3.1.10, = 2.3M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


